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(1)

fFO)=(x-1%+x f'(x)=3x-1D%+1 f"(x)=6(x-1)
f'(X)>0L 0., f(x) IXHEFREM,

x>1DE &, f'(X)>0L 0, TiZlh, x<lobx, f"(x)<0L b, kg,
x=1D&x, f'Q=0L0 ., x=1LITBNTEHHEZFF,

77 7 OEIIAKIDEDY

(2) )
B RYIFRNEIC L VR, S ]
n=10r& f(X)-x=x-1D>THDN5E, f,(X)-x=0DfRIT, x=1D%H,
n=1m & k7,

n=k»& X

X>LZBWTf (X)—x>0., x=LIHBNTf Q-1=0, x<LTHBNTf (X)-x<0ERKET D,
DT Z7OWIIZED

x>1DEEx  f(x)>x>1XL0  f,)=Ff(f,X)>f(xX)>x . f, (X)—x>0

x=1DEx f0)=1kY ., O=f(fQ)=FfQ=1 . f,,@0-1=0

x<loEx  f(x)<x<1&V  f ,X)=Ff(f,X)<f ()<x . f, (x)—x<0

L7=oT, n=k+1D & & BT,

PLEICX Y, EARBARENIZONWTH, f,(X)=xDfiflE, x=1IZRohbd, GEFK)




